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No. of Questions : 180

WYl i WE&AT: 180
Time : 2 Hours Full Marks : 4&
qug ;2 gu2 qurE : 45
Instructions :
FAaer -

This paper consists of Objective Type Questions and is divided i
Two Sections (I & II) as under.

q& AT-9H FEAHTIF g9 9 HATeRa @ Tur A oSt (195 1
¥ forer B, S e e affa §

(a) Section - I consists of 120 Objective Type Questions on Ment..
Ability, Quantitative Aptitude and General knowledge & Currei.

Affairs.

Gus- 1 5 120 Tgfaeredta wewt At v, oimmor g
ﬁsmﬁmwmmﬁmammmaﬁmaﬂmﬁﬁ%:

(b) Section - II consists of 30 Objective Type Questions on {I) Englis -

Language and (II) Hindi Language.

GUS- 11 9 30 sgfeseda usT (1) ofish AT AT (1) fa=
T & T 9T Sgig ¥

A candidate is required to attempt ag many questions as h
e

she can of Section- I, and Questions on ANY ONE of the Tw.
Language papers (I) English OR (II) Hindj in Section - Iy

Wwiﬁﬁaﬁéﬁ%ﬁﬁw—lmm
<1 st
(Il)%ﬁwwa\aaﬁaﬂfﬁ?ﬁnﬁﬁmg:n ke

PT:
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Note /1 : (1} Each question carries 3 marks. One mark will be deducted

(2)

(3)

for each incorrect answer. Zero mark will be awarded for
each unattempted question.

0% 999 3 3iF! & 21 9% T SuY & [T U& 3
FHTET AP | oerp AR 999 & GI<iie g B |
If more than one alternative answers seem to be approximate
to the correct answer, choose the closest one.

% TR deeas I @E IO B fewe wda B, @
FeRead T8l 3w & |

Each question is followed by Four alternative answers (1),
(2), (3) and (4). One of these answers is correct. Select the
correct answer and record it against the relevant question
in the ANSWER-SHEET by darkening the circle with Ball

Point Pen as per guidelines.

g 99 B AR Jeieds IR A T F B (1), (2), (3)
ToT (4) WA § awtar Ty B 1 3N A PIA T I & T
¥ ey g e SER HRE @ Sal-e A ael
goR & aE FRengar S ger () @ e diRTe 9
AT FHTAT HTH TN |

-
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SECTION -1
qus - 1
01. Find the missing term in the following series :

et At § wewares R $ w97 e 0 A e
1,6, 19, 2, 40, 66, 91
(1)25  (2)26  (3)27  (4) 28

2. Find the next two term in the series :

Fr=r 2oft § ot & g 9T
A, Fd, e, ?
()L,P ()M, 0 (3)O,U (4)R,V

Directions for Question no. 3 & 4 : There is a certain relation between
two given words on one side of : : and one word is given on another side of
: : while another word is to be found from the given alternatives, having

the same relation with this word as the given pair has. Select the best
alternative.

9T §Er 3 UG 4 & FRY: & g R W g=t 7 @&
W"H%::Eﬁiﬂ'ﬁﬂtmﬁchﬁlm%@T%Imgﬁi’ﬁﬁﬁﬂﬁaﬁ
S Ry M

gxmﬁﬁaaﬁanﬁmgﬂm%ﬁmﬁaﬁm =t &
03. Food : Stomach : ; Fuel : ?

(1) Plane (2) Truck (3) Engine (4) Automobile

G : U 2 29 - P

(1) &R S (2) = (3) ¥ (4) TGS
04. Court : Justice : : School : ?

(1) Teacher (2) Student (3) Ignorance (4) Education

AT - =T e ?

(1) TR (2) Rt @) emPmar  (4) R

P.T.0.

[ ]
gcollegedunlas
India’s largest Student Review Platform

el



16U/118/8

Directions for Question no. 5 & 6 : In each of the following questions,
four words have been given, out of which three are alike in some manner,

while the fourth one is different. Choose out the odd one :

997 €& 5 OF 6 'Y fw : Frafafed ueet & 9 = RA ™ 2
BT A uw qve @ ¥ ol der g axe @, R @ g

05. (1) Radio (2) Television
(3) Computer (4) X-ray
1)  (2) e
(3y =g (4) TEFI-Y
06. (1) Rajiv Gandhi (2) Zail Singh
(3) Dr. Rajendra Prasad (4) Pranab Mukherjee
(1) TSt et (2) ST THE
(3) Zlo Tol= U (4) 9oTa HEoit

07. Pointing towards a boy, Veena said, "He is the son of only son of my

agrandfather.” How is the boy related to Veena ?
(11 Uncle (2) Brother
\3)  Cousin (4) Data Inadequate

(1) =ra 2) %
3 EA /A R (4) SHwS T
6

-
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Directions for Question no 8 to 10 : Read the following information care-

fully and answer the questions given below:
997 HEAT 8 ®§ 10 7% & R Fdy : Fr=fifaa gon & wmgds
T e R 1T a9+ w1 Sax R

Ravi and Kunal are good in Hockey and Volleyball. Sachin and Ravi are
good in Hockey and Baseball. Gaurav and Kunal are good in Cricket and
Volleyball. Sachin, Gaurav and Michael are good in Football and Baseball.

a T gt Bt wd ancfitr § ored ¥ | aite wa <fy 21 o awar
H 3728 € | Mg 3R FAW e o) ariefer 3 o ¥ ) aftm, kg oix

™

MareT geare oY Jaata § ores ¥)

08. Who is good in Hockey, Cricket and Volleyball ?
(1) Sachin (2) Kunal (3) Ravi (4) Gaurav
g, fhehe ofiT arcirater § 9 aremy 7
(1) @afm= (2) A (3) W (4) T

09. Who is good in Baseball, Cricket, Volleyball and Football ?
(1] Sachin (2) Kunal (3) Gaurav (4) Ravi
JHEta, %,W@Wﬁﬁﬁﬂw%?
1) @afae (2) AT (3) Mg (4) I

10. Who is good In Baseball, V{)He}rba]l and H{]Ckey ?
(1) Sachin (2) Kunal (3) Ravi

(4) Gaurav
JHAN, IAGT O 2l F A aremy g 7
(1) @ (2)  F (3) <= 4) e
)
P.T.0.
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Directions for Question no. 11 to 15 : Read the following passage to
answer thesc questions:

qeT TEm 11 | dmY 15 a% @ R PRg : Freatfaa sexe #@
TG U9 & I@l Q ¢

-

Anita, Mahima, Rajan, Lata and Deepti are five cousins. Anita is twice as
old as Mahima. Rajan is half the age of Mahima. Anita is half the age of
Deepti and Rajan is twice the age of Lata.

SAHIar, Aty g TR /AR SS-98 © | ST,
qﬂl’gfr{g AT .;’Q":ﬁ“"%'fﬁu;ﬁ?w giegr & 9 @ STl B | Sl

e

H 35 €T %1 SH § omel B od <o # SH ol B IF H A &

11. Who is the youngest ?

(1) Decpu (2) Rajan (3) Lata (4) Anita
P HIH BIG I B B 7 —
(1) Zifeg (2) T (3) ddl (4)

12. Who is the eldest ? |
(1) Deepti (2) Lata (3) Anita (4) Rajan
19 Tad e 39 H 8 7
(1) difs (2) I (3) QTR (4) =

13. Which of the following pairs of persons are of the saIcm age ?

(1) Mahima & Lata (2) Anita & Mahima
(3} Mahima & Rajan (4) None of these

e g & B O IF W B
(v miEET S Tl

(2) aTTer 3fT H"iEHn
@) SUXE F A B T

\ita is younger than :
P, [l (2) Mahima

(1) Rajan (4) None of these

3) Deept
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15.

16.

17.

18.

16U/118/8

ST B I FHH B

(1) o 4@ (2) #fgar &

(3) &g | (4) I ° frdr O T8
If Mahima is 16 years old, then what is the age of Lata ?

(1) 4 years (2) S years (3) 7 years (4) 14 years
ST HIRHT &1 1g 16 I &1 & Ot wrr @ omg ar T ?

(1) 499 (2) 5399 (3) 7ad (4) 14 ad

You go North, turn right, then right again and then go to the left. In
which direction are you now ?

(1) North (2) South (3) East (4) West

Y _ITR &1 9o &, sy g, Y
§ oM 6T a1 w21 omra apsh) mer%?ﬁmw

(1) 3@ (2) o (3) g™ (4) ufdem

Rohan walks a distance of 3 km. towards north, then turns to his left
and walks for 2 km. He again turns left and walks for 3 km. At this

point he turns to his left and walks for 3km. How many km. is he
from the starting point ?

(1) 1 km. (2) 2 km. (3) 3 km. (4) 5 km.
e 3 [Flo ST R &1 ol Taet oo S 2 BFfo =

%_lﬁﬁwﬁ’hwsﬁﬁﬁom%lmﬁﬁ?w

3
SRS {'Sﬁﬁtﬁcfiﬂ:ﬂ'r%fag :
T S ST ' A o

(1) 1o (2) 2fFHfe  (3) 3R (4) 5o

The pc‘msithnS of how many digits in the number 321465987 will re.
main same when the digits are arranged in ascending order ?

(1) One (2] Two (3) Three (4) Four

321465987 & 3117 ;
I T (T8 )y o T R oy

(1) Th (2) = (3) T+ 4 ar

PTo
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19. Saturday was a holiday for Republic day. 14 of next month is again
a holiday for Shivratri. What day was it on 14* ?
(1) Monday (2) Thursday
(3) Tuesday (4) Wednesday

AT B gedl o adifer Mo Ra| or | gE) 98 & 14 ariie
1 T T orEer AV 14 A" H HE-dr Ry or 7

(1) @Har (2) TEAR (3) HIRET (4) FyaR

20. If P mcans 'division’, T means ‘addition’, M means 'subtraction’ and D
means ‘multiplication’, then what will be the value of the expression
IZ2M 12D 2BP7T1572

ST P AT o1 ¥ qmr, T i B CSiie”, M T ot B “aem

D @ 4 T ‘o’ @ 12M 12D 28P7 T 15 & H 8RN 7

(1) -30 (2) -21 3) 15 (4) 21
Directions for Question no. 21 to 23 : In each of the following questions,

" statement/ group of statements is given followed by some conclusions.
Without resolving anything yourself, choose the conclusion which logi-

cally follows from the given statement(s) :

qe wEr 21 @ 23 g PRw : Fefies g@e geit § O

| . o
:i:?.W/Wwﬁﬂﬁg%ﬂ%W@ﬁﬁﬁﬁmﬁﬂﬂW.
i Faerd @ 9 off afes w9 4 R ™ freor /et & fept

51. Statement : Most dresses in that shop are expensive.

Conclusion :
ere are no cheap dresses available in that shop.

(1) Th
(2) Handloom dresses in that shop are cheaper.
. ‘There arc cheap dresses also in that shop.
I8y |
esses in that shop are expensive.
A e deSS
Ii] l Sﬂm

\
L 4

10

-
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22-

23.

FEReT @ 39 ZEE O orfieay Je aey §
Frepd -

(1) S8 ZHT F o% T& geq Iqqe 781 T
(2) FT=YH I G ¥ IW gHE A

(3) SH g H Txd gy off ¥

(4) IW IFA § B a5 Fet ¥
Statement : Every library has books.

Conclusions :

(1) Books are only in library.

(2) Libraries are meant for books only,

(3) No library is without books.

(4) Some libraries do not have readers.
faeTer @ oo e geas ey ¥
Frepd

(1) g&T e germa § & ¥

(2) FEeE 9% gwent & i 8

(3) I grrwE R gw B 9 ey
(%) BY gl B grew w4t @y |

Statement : All beggars are poor.

Conclusions :

(1) I Ais a beggar, then A is not rich.
(<) I Als not rich, then A is not a beggar
(3)  All those who are poor are beggars.

(4) IfAisrich, then A js not a heggar,

11
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fazer : 9t e e e B

e

(1) I A fyggm &, &t A o1 8 21
(2) T A a9 qEt 8, ar A ¥EE T8 8
(3) qft Tha Rt g

(4) TR A STHIX B, a A Brasm a8t 1

Directions for Question no. 24 to 25 : In the following questions there
are given some statements followed by conclusions that can be drawn
from them. Choose the conclusion which appeals to you to be the most
correct.

T HEAT 24 wg 25 B forg Py - el et A g Fawe @

Tjﬁﬁlﬁ%dﬂ(lﬂddﬁﬁﬁ@ﬁ%ﬁlﬁﬂﬁmﬁgﬁﬁm
q94 HE FoTEr 8y

24. The Taj 1s in Agra, Agra is in India, the Taj is in Inida.
(1) True (2) Probably false
(3) False (4) Can't say

arsl ST ® ¥, ST 9Rd A 8, dNl 9 H 2
(1) 94 (2) H¥HIOAl AHH
(3) 3TE™ {4)“@%%

25. The presence of calcium in milk makes it white. Rice, too, is white.
Therefore, rice also contains calcium.

(2) Probably true

(1) False '
g R
S @ IuRARy & FR A e elar € | =rE
fiﬁ.\ﬁﬁw% mﬁﬂﬁﬁ%ﬁ&m@m?
W h (2) FHIIA TA
(1] dm? (4) TEt FE F@Hd
e

12
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26. Reaching the place of meeting 20 minutes before 8.50 hrs. Sumit
found himself thirty minutes earlier than the man who came 40 min-
utes late. What was the scheduled time of the meeting ?

(1) 8.00 (2) 8.05 (3) 8.10 (4) 8.20
AT & w93 20 e ged, 9 39 THY 8 ISTRY 50 fyTe e

\ 39 AfRT |/ 30 fme yea ST @fdd 40 e ST or |
mémﬁmwwm@-

(1) 88 (2) 8&IHY 5 =T
(3) 8aSHT 10 fiye (4) 8 ST 20 e

Directions for Question no. 27 to 31 : Read the following information
carefully and answer the questions that follow :

9 HEq 27 q 31 T F fw Bl : A RE W meed A
I H YGHT A B 99hl 1 Iy 2-

Six lectures A, B, C, D, E and F are to be organized in a span of seven days-
from Sunday to Saturday, only one lecture on each day in accordance with
the following :

ST A,B,C,D,ETd F A BF #f o1afy § smaifdm eem 2- womw
9 e, Fr=tateg STRTAT & STTAR % U amam ufafem s
(1) A should not be organized on Thursday.
AT G TEA @ 98 8 B
(i1} € should be organized immediately after F.
C & AEMT F & gRd 4 |
(11i) There should be a gap of two days between E and D.
ET@ D% da 3t RFY & et |

v} One day there will be no lecture (Friday is not th
: at da
before that day D will be organized. y), Just

(v)] B should be organized on Tu

13
P.T.0.
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27. On which day there 1s no lecture ?

(1} Monday (2) Friday

(3) Sunday (4) Can not be determined

fpe e I =grear gt B ?

(1) HAWEC (2) YA

(3) AR (4) e el FRaT ST R
28. How many lectures are organized between C and D ?

(1} None (2) One (3) Two (4) Three

C ud D & drer Rra e T R T 7

(1) &3 T8 () U (3) @ (4)

29. Which day will the lecture F be organized ?
(1) Thursday (2) Friday (3) Saturday (4) Sunday

AT F & e e &= grm ¢
(1) T&aR (2) garr  (3) @R (4) AR

30. Which of the following is the last lecture in the series ?

(1) A (2) B
(3) C (4) cannot be determined

-ﬂ{@wﬁfeﬂﬁﬁrﬁwﬁ?—wé’ﬂ?

(1) A (2) B
3 C (4) gar i fRan ST FeRdl |

o following information 1n not required in finding the

ganization of lectures ?

(2) (i) Only
(4) All are required

31, Which of th
complete sequence of or

(1) (1) Only
) (i) and (11

14
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rrfREa J§ ® hi-61 , ST & GET & STTHA
wmﬁamawﬁg? T

(1) R () 2) &P (i)
(3) ()T (ii) (4) AT A SATIIIHAT

Directions for Question no 32 to 40 : Read the following information
carefully and answer the questions that follow

999 §&1 327 40 O 3 BES :ﬁqﬁf@aw‘“wﬁﬁzﬁw
% 9sHl FT IQT & el | Ak

A 1s older than B. C is older than B but -
. Younger than A. D is younger than
E and B. B is older than E. ' & !

ABASHFTZIE, CBAIW F w31 T qX A & a5 & i B &
otk bl B8 SHHABRIRID,ET B &

32. Whose age is between B and D ?

(1) E (2) C

(3) A (4) None of these

B Ud D F3IH % da fraat oy & 7

(1) E (2) C

(3) A (4) S H |/ i T8t
33. Whose age is between A and B ?

(1) D | (2) C

3) E (4) None of these

[FEH 3T A wd B B g § 7

(1) D (2) C

(3) E (4) ST F § i 78

34. Who is eldest ?

TR qE W oy L 2
) C 2) B (3) E

15
P.T.0
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35.

36.

37.

38.

39.

Who is the middle ?
4= 3" @ P/ B ?
(1) B (2) C (3)

Who is the youngest ?

999 Bet 39 F P & 7
(1) A (9] € (3)

How many are between A and D ?

(1) 3 2)
(3) 1 (4)
AT DFITgHIWH fhad € 7
(1} 3 (2)
(3) 1 (4)

Who is to the extreme right ?

2

None of these

2

S &/ B A

(4) D

(4) D

AT 3H % oI YT UH 3@ § gae @St fhar sy ar ared

& a9 < # BT shm 7
i 4 (2) D (3)

Who is to the leftof C ?
CTFH A B B 7
(1) A (2) D (3)

40. How many are to the left of E ?

g & & e € 7
(1 =

16

) 2) 3 (3)

B

1

4) E

(4) E

(4) 4

[ ]
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41. Find the remainder when 73+75+78+57+197 is divided by 34.

42.

43,

44,

45.

TG 73+75+78+57+197 &Y 34 W WY AT Sr & o AW fhaAr =,
g7
(1) 32 (2) 4 (3) 15 (4) 28

How many terms are there in the Arithmetic Progression : 20, 25, 30,

.......... , 130.

éo,zs,so, .......... , 130 IO FHIGR Soft ot & e fahaet
?

(1) 22 (2) 23 (3) 21 (4) 24

The average age of 24 students and the principal is 15 years. Whei.
the principal's age is excluded, the average age decreases by 1 ye:
What is the age of principal ?

24 faenfei=l od gamTerd # 3 & Sf|d 15 8, STR Y
SH W gl R o Y ofvaa 9w uw ad g o D &) gerare,
H ST FT S 7

(1) 38 (2) 39 (3) 40 4) 37

Find the missing number of the following :
Fr=fafas & fage @@ & gar ey

4827+0 ? 2 = 5359
(1) 4 (2) 3 (3) 2 (4] ¥
What is the cube root of 0.000001 ?

0.000001 T 999 &y & ?

(1) 0.1 (2) 0.01 (3) 0.001 (4) 0.000]

34 4
2T

[ ]
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46,

47.

48,

49,

50.

Solve the following :

45-[28-{37-(15-?)}] = 58
F=fafaa &1 T &5

45-[28-(37-(15-?)}] = 58
(1) 19 (2) -19 (3) 29 (4) -29

Find the LCM of 22, 54, 108, 135.

22, 54, 108, 135 T TYTH I |
(1) 5940 (2) 5490 (3) 5495 (4) 5049

A, B and C are having average weight of 45 kg. If A and B are having
average weight of 40 kg. and B and C are having average weight of 43
kg., then the weight of B is ?

(1) 17 ke. (2) 20 kg. (3) 26 kg. (4) 31 ke

A, B U4 C o oiraa au 45kg. &1 A% A Q& B & NTT T
40 kg, & oM B ¢ = ofma Ao 43 kg. & A B &H A9
o T ?

(1) 17 f&%om;lo (2) 20 oo

(3) 26 fFHoTTO (4) 31 fFHoATo

Ifa:b=4:3andb:c=3:5thena:c="7?

b3\ u:b=4:3\3mb:c=3:5,6ﬁa:c=?

(1] 1:a (2) 3:2 () 2:3 (4) 4:5

if (x/3) = (v/3), then (x+3): (y +5) =7

afr (x/3) = (y/5), T &+3) 1y +5) =7

o Bal (2) 2:7 (3) 3:5 (4) 5:8
18
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51. If 15 men can dig a well in 20 days, then how many men will be
required to dig the well in 12 days ?

afd 15 EHl T HU H 20 R § @ gha &, at I [T &
12ﬁ?ﬁ@ﬁ%q§mwmqﬁmmﬂm@ﬁ?

(1) 15 (2) 16 (3) 18 (4) 25

52. If 3 men and 6 women can finish a work in 16 days, then how many
days will be required to finish the same work by 12 men and 8 women ?

(1) 4 days (2) S days
(3) 3 days (4) 2 days

3% 369 T 6 Afeard o FR A 16 RAY F i @ § ar o6
F4 12 gE9 AR 8 ARe Ree Rt F qu @ wewdt ¥ 7

(1) 4R= 2) 5=
(3) 3= @) 2R/

53. The largest number which is a factor of 56 as well as 84 is :

JeIaq &1 S 56 & AY-9 84 B W HRE B
(1) 2 2) 7 (3) 14 (4) 28

54. Which of the following is equivalent to (15/25) ?

T /A @ (15/25) B geq § 7

(1) 150/25 (2) 15/250 (3) 3/5 (4) 60/75
55. 0.04x10* when expressed in decimal form ?

qiT 0.04x10° &l IUHST & w9 F gk 9T a2
(1) 4 (2) 40 (8) 400 (4) 4000
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56. A Tailor has 37.5 meters of cloth and he has to make 8 pieces out of a
meter of cloth. How many picces can he make out of this cloth ?

o ooft & gy 37.5 dex aed & ok IEH 9 SS9 U HieX ¥
e 99 FU2 g9 ) gand @ g8 fhaq $u2 a9 9l ¢

(1) 300 (2) 320 (3) 360 (4) 400

57. 1.2x12+08%x08+24x08="7

() 3 (2) 4 (3) 1.2 4 1.5
58. Findxif(x/Sl-(xf6)=4

x & qed ferepred afs (x/5) - (x/6) = 4

{1y =120 (2) -100 (3) 100 (4) 120
59, 1f (a/b) = (3/4) and 8a + Sb = 22, then the value of a is :

af% (a/b) = (3/4) T& 8a+5b=22 A a & 4 &
(1) 1 (2) 1/2 (3) 3/2 (4) 3/4

60. What pereent of 3 meters is 75 cm ?

3 et 1 75 Yendiex Reaen afaea 8 7
(1) 10% (2) 15% (3) 20% (4) 25%

61. Divide 8800 into two parts such that one part is 10% of the other.

(1) 4800, 4000 (2) 8000, 800
(3) 7000, 1800 (4) 7200, 1600
%BROOEﬁli‘lﬂFﬁﬁﬁW@mgﬁwmgﬁsﬁﬁ;
(1) 4800, 4000 (2) 8000, 800

1600
(3} 7000, 1800 (4) 7200,

20
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62. 7.5% of 140 + 2.5% of 80 = ?

140 &1 7.5 9iAIRTT + 80 T 2.5 QAT = ?
(1) 125 (2) 12.5 (3) 145 (4) 14.5

63. If the cost of 1 dozen pencils is 2 14.40. The cost of 4 pencils is :

Th &9 AfFEe @ P 2 14.40 2, @Y 4 ARE 9 Eag &
(1) 25.20 (2) T4.80 (3) 27.20 (4) T6.60

64. If 7 spiders make 7 webs in 7 days, then 1 spider will make 1 web in
how many days ?

SR 7 Hhs A R
et 2 S o q O AT g9 g €, @ 1 e 1 o

(1) 1 2) 7/2 3) 7 (4) 49

65. [I+2+3+4+5+6+7+8+9]“isequa]to:

[1+2+3+4+5+6+7+8+9PaqET 3 ¢
(1) 0 (2) 1 (3) 45 (4) 450

6. If (x + 1/x) = 3, then (x? + 1/x3) =72

AT (x+ 1/%) =3, ar (x + 1/x% = ?
(1) 9 (2) 18 (3) 27 4) 6

67. A vendor bought a number of bananas at 6 for S rupees and sold
0

1 0
(1) 32Y% (2)  44% (3) 55%
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68. A sum of money doubles itself in 12 years at simple interest. What is

69.

70.

71,

the rate of interest ?

TF Tl 12 gat H |rRer &l # X § AT 8 ST § | A
Bl &Y FT & 7

(1) 9.33% (2) 6.33% (3) 7.33% (4) 8.33%

A, B and C opened a business by contributing ¥ 10,000, ¥ 20,000 and

¢ 15,000. At the year end, the profit was T 4,500. How should they
distribute the profit ?

A,B @ C ¥ @& AR ¥ 10,000, % 20,000 T& 15,000 H Y& 77
9 F AT A 14,500 @0 TN gOAT | A WAL WA B hE AT !

(1) 900, 1900, 1400 (2) 1000, 2000, 1500
(3) 1200, 2200, 1700 (4) 1500, 2500, 2000

A person can row down a stream at 6 km/hr and up the same stream
at 3 km/hr. His rate is still water is ?

(1) 9 km/hr (2) 4.5 km/hr
(3) 1.5 km/hr (4) 1.0 km./hr
ap et gy @ Rem & 6 f.A. oger @t ARy & A9 AR Hhl

3 ofT ar & ot RBen & 3 6. sder @ i ¥ A S G
%,ﬁﬁmaaﬁw%maaaﬁaﬁﬁﬁm?ﬁﬁﬁ?

(1) 9 fF.dt. sdet (2) 4-5%-‘51/'5@
(3) 1.5F.H. 8 (4) 1.0F.=r. /8

A room is 9 meters long, 7 meters broad and 3 meters in height. Find
L ] - 2
the cost of preparing it T 50 per mt®,

ﬁawmﬁafﬁaaﬁvsﬁ?ﬂﬁm%msoaﬁ{

FAT O
o @ g P e S A
1) 74800 @ ¥aeco (3 42 (4] £4500
22
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There are 12 kids in a classroom. 6 kids are wearing socks and 4 are
wearing shoes. 3 kids are wearing both. How many are in bare feet 2

(1) 5 - (2) 3
(3) 4 (4) None of these

wmwﬂ12aﬁ%163ﬁtﬁw®§q%ah4qﬁm3ﬁ
Al 9B gu ¥ Rra @l A7 7

(1) S (2) 3
(3) 4 (4) SUAwT H q BF T

During a club meeting a total of 28 handshakes were made. How
many members were present in the meeting ?

Wﬂ-ﬁaﬁiﬁﬁaﬁf%%?@@?ﬁ(mﬁm)gaﬂlawﬁ
e Teer Sufter & ?

(1) 14 (2) 7 (3) 9 (4) 8

The value of square root of 0.09 .

0.09 T Fgar &n -
(1) 0.3 (2) 0.03 (3) 0.003 (4) 3.0

A 1s two years older than B, B is twice ag old as C. If the total of the
ages of A, B and C be 27, then how old is B ?

A,Bﬁﬁﬂéﬂ:ﬂ%maﬁwcﬁ 2 '
Gaasrthnz)?%,eﬁm?rww%%?ﬂ b

(1) 4 (2) S (3) 6 (4) 7

If 25% of a number 1s 75, then 45% of that number is ?

Hﬁ%{tﬁﬁwaﬂ%%,?s g, ﬁa?ﬁﬁ'@rmrc;s%wrg‘wn?
(1) 145 (2) 125 (3) 150 (4) 135
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77. By selling a watch for ¥ 495, a shopkeeper incurs a loss of 10%. Find

78.

79.

80.

81.

the cost price of the watch for the shopkeeper ?

U HE1 B 7495 H Yo+ @ GHAIR BN 10% Hl BT Bl 2
GRS & aTg & g @B @%’r«' e F®T § ¢

(1) 545 (2) ¥ 555 (3) ¥550 (4) ¥ 565

[n throwing a fair dice, what is the probability of getting the number
131 ':}

9rEr G 9¥, @7 '3 9 @ gifaeear et @ ?
(1) 1/6 2) 1/3 (3) 1/9 (4) 1/12
The value of 36 - [ 18 = {14 - (15 -4 + 2 x 2)}] is :

36-[18-§14 - (15-4 + 2 x 2)}] FH AT ©

(1) 23 (2) 24 (3) 21 (4) 25
(8 - 88) x 8888088 =7

(1) 808008 (2) 808080

(3) 808083 (4) 8008008

‘Patanjali’ is well known for the compilation of ?

(1) Yoga Sutra (2) Panchatantra

(3) Brahma Sutra (4) Ayurveda

(1) g g4 (2) YHdA

(3) d&1 A (4) STGAS

82. Taxila University was situated in ---- .

(1) Pakistan (2) India (3) Bangladesh (4) Burma

qerfarern fasafaened Red e |
1) ofeem () @ O g @) T

24
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83. Who was the Mughal Emperor to have lifted the Jaziya on Hindus ?

(1) Babur (2) Akbar
(3) Jahangir (4) Shahjahan
e T AT ¥ Regell W e gy v @Y gEre R e ?
(1} 9rdY (2) SAHhET
(3) STEFiR (4) SmESTRT
84. Which one of the following slogans is attributed to Subhash Chandra
Bose ?
(1) JaiJawan Jai Kisan (2) Vande Mataram
(3) Jai Hind (4) Inqgilab Zindabad
TH 8/ BE-T1 A4 GIT T G X Rar o7 ?
(1) S SO 19 fham (2) a= ARy
(3) =@ fBx (4) TR e
85. "Teachers' Day" is celebrated on the birthday of :
(1) Jawahar Lal Nehru (2) S. Radha Krishnan
(3) Rajendra Prasad (4) Mahatma Gandhi
i Raw” w9 SR 9w wemEn omar ©
(1) SR ot Aes (2) wH. 9T Foory
(3) T = w9 (4) WeTHT TR
86. The Constitution of India came into force on ?
(1) December 9, 1946 (2) January 26, 1949
(3) January 26, 1950 (4) November 26, 195]
AT &1 |9 frg fafr & gordy 9
(1) 9RE=T, 1946 (2) 265, 1949
(3) 26 S 1adt, 1950 (4) 26 7E=R, 1951
25
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87.

88.

One of the following is NOT a Union Territory :

(1) Tripura (2) Daman & Diu
(3) Lakshadweep (4) Puduchery
Fresfofas & & o @9 g &9 T8 8 0 h
(1) Bga (2) =9 wd &4

(3) W& (4) digad

What is the maximum age limit prescribed for the post of the Presi-
dent of India ?

(1) S8 years

{(2) ©0 years

(3) 62 years

(4) There is no maximum age limit

T & Uegfy @ gg & [T I==aH In & d@mr Fr FAgiRd
H ST ?

(1) 58ad (2) 60T -
(3) 627 (4) FHE Ioaaw MY FAT TEl © |

89. The Vice-President is the ex-officio Chairman of the :

90.

(1) Rajya Sabha

(2] Lok Sabha

[3) Niti Ayog

(4] National Development Council

3q TRy 9T oreder B €
(1) To9 &9 & (2) N @I B

(3) Ay AT @ (4)U@ﬂﬁ%‘|ﬂaraqﬁer§%

ins i e enjoys
in India, the Prime Minister remains 1n office so long as h oy

P s :
(1) Support of Armed Forces
(3) Confidence of Lok Sabha

(2) Confidence of Rajya Sabha
(4) Support of the people

26
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TRT B JIHEET a9 T ISTEA @A & ol dh I ...
fIeare Ot TEdr 2 |

(1) 9= &0 (2) =T AT A

(3) ek |HAT & (4) @I @

'Shakti'- Sthal' is related to whom ?

(1) Smt. Indira Gandhi (2) Rajiv Gandhi

(3) Mahatma Gandhi (4) Pt. Jawahar Lal Nehru
et TRl [ g B 7

(1) sireh g wireh (2) rofrer el

(3) HBIHT e (4) Yo TTATEY @A ABE
The 'Attorney General' of India is a legal advisor to......... ;

(1) The President of India (2) The Prime Minister
(3) Lok Sabha (4) Government of India
IR & ‘T S s S aeeE ey § o7
(1) T & q=afy (2) SYTHET
(3) dp G (4) 9T g
The 'Upper House' of Indian Parliament is known as...... | ?
(I) The Rajya Sabha (2) The Lok Sabha
(3) The National Assembly (4) The Indian Parliament
W B wE A ey ga” ) wed B 7
(1) Tog gH (2) s g
3) U wHw (4) AT geq
The 'Right to Vote' j ia is o1

g cl: Ote In India is given to all people on the basis of ?
(1) Education (2) Proper[y
(3) Religion (4) Age

27
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95.

96.

97.

98.

ma%ﬁ?“qﬁaﬁaﬁraﬁm” gt drm Rl [BE St 9 Ran
AT B

(1) forem (2) Gefed
(3) &H (4) SH

How many spokes are there in the Dharma Chakra (Ashok Chakra)
depicted on the National Flag of India ?

TSEE G & 319l o A foha aierdl & 7
(1) 16 (2) 20 (3) 24 (4) 32

What is national flower of India ?

(1) Rose (2) Lotus

(3) Lily (4) Sunflower

IRl TS T F91 8 7

(1) e (2) FHEA

(3) feweht (4) FEgE

What is the minimum legal age of marriage for girls in India ?
(1) 16 years (2) 18 years

(3) 21 years (4) 23 years

AT SRl @ A & Rig =g Qente oy Y 7
(1) 167 (2) 18494

(3) 214 (4) 23ad

Which of the following can be called as a part of the Service sector ?
(1) Textile Mills (2) Retail and Logistics

(3) Coal Mines | (4) Agriculture
zi A R ¥ 85 &1 ST " S ® 7
(1) HusT A (2) e
(3 @ T (4) B
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99. Which state of India has the largest area ?

(1) Uttar Pradesh (2) Madhya Pradesh
(3) Maharashtra {(4) Rajasthan
WA & e T e wad ot D 7
(1) IET 9297 (2) A wR9T
(3) HeRT (4) TSTETH
100. Which state in India is estimated to have the largest coal reserves in
India ?
(1) Bihar (2) Jharkhand
(3) Madhya Pradesh (4) Orissa
W%ﬁmwﬁaﬁaﬁwmﬁww%?
(1) fes (2) FIGvs
(3) A w9 (4) IHEr
101.The 'Tehri Hydro Power Complex' is located in the state 0f oous P
(1) Uttarakhand (2) Uttar Pradesh
(3) Himachal Pradesh (4) Sikkim
TE W i B R e | g7
(1) IETgvs (2) ITY goT
(3) PE=reT oar (4) Fafeen
102.'Mid-day Meal' scheme was launched in 1995 to promote ?
(1) Adult Literacy (2) Higher Education
(3) Professional Education (4) Primary Education

1995 § “firs § i Ao famy e Pty
Y fRar R ey ? " T & R

29
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103.The ' White Revolution' is related with :

(1) Fish production (2) Food grain production
(3) Oilseed Production (4) Milk Production
‘TP R S 8
(1) Aol IR (2) STATST ST
(3) o« & SIS B IQEA (4) FY IURA
104. Which is the biggest enterprise of the Government of India ?
(1) Postal and Telegraph (2) Railway
(3) Banking (4) Shipping
e T T AR a%1 SYHT B § 7
(1) ST T& dX (2) &
(3) aAfwT (4)
105. Who amongest the following is NOT an auto company ?
(1) Hyundali (2) Trnpex
(3) Maruti Suzuki (4) Tata
’
St B A P e wrl @
(1) gA (2) feu=d
(3) HTERT gIgHt (4) <TeT
106.What is the name given to the common currency of the European
Union ?
(1) Rupee (2) Rouble (3) Franc (4) Euro
?
AR g & qrErE gET T 8 7
Bk 4
(1) Bl (2) =& (3) (4) 20

est planet to the sun ?

.ch of the following is the farth
- T (3) Neptun€ (4) Earth

(1) Mars (2) Jupiter .
;
9 & atideran g0 W a1 T& © !
TW kS (2) gewia  (3) & (4) gl
30
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108.The world's longest river is .... :

(1) Nile (2) Ganga

(3) Amazone (4) Mississippi

faeg = qed =l = & -

(1) e (2) I

(3) STHSH (4) Mt
109.The boundary line between India and China is called :

(1) McMahon Line (2) Red Line

(3) Radcliffe Line | (4) Durand Line

A OF d9 & dEEdt @ # Feg § o I

(1) HepHres 3 (2) I T

(3) =fRrs T (4) 38 @
110. The largest producer of gold in the world s :

(1) Australia (2) Canada

(3) Russia (4) South Africa

A F 9T § G g8 SqEd Do

(1) Smreferar (2) T

(3) =9 | (4) faoft sty
111. Bhilai is associated with, . -

(1) Cotton Industry (2) Silk Industry

3) I

(3) Iron and Steel Industry (4) Sugar Industry

e 6 ST § g R

(1) T e (2) T FEm

(3) T O gy e 4) o ey

31
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112. A printer is this kind of device... :

(1) Input (2)
(3) Processing (4)
T U= 39 9N 6 IYHIT §
(1) 1Y (2)
(3) wrafg (4)
113.CDs are of which shape ?

(1) Square (2)
(3) Round (4)
CDs fp& ofepk &T 8 & ¢

(1) amETT (2)
(3) T (4)

Word Processing
Output

g AT
3MITYE

Rectangular
Information

TR
sehll

114. Which of the following is the largest unit of storage ?

=i} § @A HSRT B TG JEA IHE © 7

(1) GB (2) KB (3)

MB (4) TB

115. Who is holding the post of India’s Home Minister ?

(1) Arun Jaitely (2)
(3) Raj Nath Singh (4)
AR @ T W B UK W A T !
(1) TSI el (2)
(3) T e (4)

116. Who is the winner of ‘A
(1) Sri Lanka

(3) India

32

Ravi Shankar Prasad

Sushma Swara)

qa g dE=

gﬂ'ﬂTF—i’(‘l\—ff

sia Cup Cricket 2016' ?
(2)
(4) Bangladesh

Pakistan
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‘T FT ThpT 2016’ T AT B T 7

(1)  =Nafepr (2) 9=

(3) «d (4) SEATRST
117.India’s star sports person Mary Kom is related with... :

(1) Wrestling (2) Boxing

(3) Swimming (4) Badminton

URT #l ©R @e gde 38 a3 getyg ¥

(1) Heeht (2) HEFEBaETS

(3) =T (4) osfies
118.'My Experiment with Truth' is an auto biography of ?

(1) Jawahar lal Nehru (2) Sardar Patel

(3) Mahatma Gandhi (4) Subhas Chandra Bose

YA TERTTHe Ry g feeed sterer 7

(1) &Y aer Jes (2) TI&EX g

(3) WHerHT el (4) gmw = 919

119.'World Yoga day’ is celebrated on :

(1) 3" March (2) 21* June
(3) 15" October (4) 8% March
9T A7 R’ w=rmr syar @
(1) 35 i (2) 2157 =
(3) 15 srEFgER #t (4) 87T FHr
120.Where will the Olympic Games in 2016 be held ?
(1) Italy (2) China (3) Brazil (4) Greece

33
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SECTTION - II
geg- 1l
Language : English
(For Candidates Opting English Language)

Note : Four alternatives are given as possible answers to each question.

Give the correct choice as an answer.

121. Plural of knife is : |
(1) Knifes (2) Knifs (3) Knives (4) Knies

122. Which of the following word is always plural ? |
(1) Cattle (2) Child (3) Monkey (4) Wife

Directions for Question no. 123 & 124 : Choose the most suitable word

to fill up the blanks with linking verbs.

123.The dogs ........ black.
(1) s (2) was
(3) were (4) None of these
: -7« S0 (R— interested in B. Voc. course.
(V) 3= () are (3) am (4) were

125.'Ram is a intclligent boy'. The adjective I:t'l thi_&‘. sentence 18 .
(1) Ram (2) intelligent

(3) boy (4) 1s

irecti i - { the following questions, a
2 for Question no. 126 & 127 : In each o )
?{“::E:?Sj hasQ been given in Active Voice. Out of the four alternatives

' in
suggested, select the one which best expresses the same sentence
passive Voice.

126.Mona was writing @ jetter to her father.

1) A letter was written to her father by Mona.
l[Q] A letter has been written to her father by Mona.

| A lctter was being written by Mona to her father.
- Px letter was written by Mona to her father.
(4) ¢

34

-

—

collegedunia:s

India’s largest Student Review Platform



16U/118/8

127.Please help me.
(1) You are requested to help me.
(2) You are being requested to help me.
(3) You are requested to help me.
(4) You have been requested to help me.

Direction for Question no. 128 to 130 : Fill in the blanks in the following

sentences by selecting the most appropriate alternative from amongest
the four choices given under each sentence.

128. Experts fail to understand the ........ behind the decision.
(1) 1ideology (2) judgement
(3) politics (4) rationale
129.The reward is a ........ of her service to mankind.
(1) momento (2) memonal
(3) recognition (4) witness
130. My friend took his first pay to the bank to ...... it in his account,
(1) deposit (2) deficit
(3) debit (4) demote

Direction for Question no. 131 to 135 : Cive one word for thc following
group of words/sentence.

131. A tank where fish or water plants are kept.
(1) Apiary (2) Aviary
(3) Nursery (4) Aquarium

132.An official numbering of the population.

[1) Censor (2) C{}unting

(3] Census (4) Demngraphy

3s
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133. Policy of a political party.
(1) Manifesto (2) Agenda
(3) Report (4) Circular

134.A man having no hair on the scalp.

(1) Hoary (2) Naked (3) Gaudy (4) Bald
135.Yearly celebration of a date or an event.

(1) Birthday (2) Anniversary

(3) Jubilee (4) Centenary

Directions for Question no. 136 & 137 : In the following questions, some
parts of a sentence have been jumbled up. You are required to rearrange
these parts which are labeled P, Q, R, S to produce the correct sentence.

136.Like many eminent men,

P : whose achievements

} - he adimired

Fa

R : he could not equal
S

. other men
(1) PQRS (2) QSPR (3) RPSQ (4) RSPQ
137.1 have never met,
P : a friendliness and hospitality
Q : in your city

R . like the onc
S : | have met
(1) PQRS (2) PRSQ (3) PSRQ (4) QPRS
: Agal key word are given
. tions for Question no. 138 to 142 : Against each key wo :
DSL?: leggested meanings. Choose the word or phrase which is nearest in

meaning to the key word.

138.Latent (2) Apparent

oncealed
(1} Concea t
(2) Lethar g'IC (4) Promp

36
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139. Shift

(1) To manage (2) Move

(3) Slide (4) Drag one's feet
140, Starve

(I} Float (2) Be naked

(3) Be hungry (4) Be naughty
141. Rigid

(1) Sticky (2) Voluminous

{3) Hard (4) Bent

142.Careless

(1) Spotless (2) Faceless
(3) Negligent (4) Vigilant

Duectmn.s for Question no. 143 to 145 : Pick out the word opposite or
nearly so in the meaning of the given words :

143. Accepted

(1) Rejected (2) Noted (3) Considered

(4) Provided
144.Come
(1) Play (2)  Fast (3) Go 4] o
ot
145, Extrovert
(1) Rosetas (o) _mixer (3) Introvert
. (4) Socia)
37
P.To.
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Directions for Questions no. 146 to 150 : Read the following passage
carefully and answer the questions given below it.

When you buy a car, examine carefully the important features of the model
vou are considering. Myself as the buyer of the latest model has got into
‘rouble by buying a car too broad or too long for his garage. Furthermore, a
20g a3 o hard to manage in traffic and too difficult to park. Another
feature is the comfort afforded. Are the seats nice and durably upholstered ?
s there enough glass to give the driver a good view in all directions, particularly
to the rear ? 1t should be remembered that the heavier and the more powerful
(ocar s, the more expensive it will be to operate. High powered motors require
cxpensive high octane petrol. The greater weight means greater tyre wear
and enlarged brakes. The old cliché is still true : It is not the initial cost but
the upkeep which matters.

146.The writer favors a car with a wide glass areas so that the driver can
(1) Enjoy the scene outside while driving
(2) Have a good view of the rear

(3) Roll down the glass panes to get enough fresh air

(4) Display his beautiful upholstery with pride

147.1t is very expensive to maintain a large car because 1t

(1) Isheavy
(2) Requires more Space for parking

Needs changing its tyres more frequently

(3)
(4} Nceds more durable upholstery
Luying a car one should specially consider its
nale DUY
A8 While P (2) Maintenance cost
{..1\} 1[ulllbl; (4) Brak( i}

Uph olsten

(2)
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149.According to this passage, the two factors that the buyer of a new
should keep in mind are

(1)
(2)
(3)
(4)

[ts price and size

Its model and upholstery

Its size and the comfort it offers
Its upholstery and glass area

150.The size of the car should be in accordance with

(1)
(2)
(3)
(4)

The money one can afford to pay

The size of the garage the buyer has

The width of the road where the buyer lives
The volume of traffic on road.
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SECTION - II
gvsg - 11
A B
(=t a7 g faenfét & fom)
MR : Fafafad o=t & (1), (2), (3) T4 (4) FHIF B AR-AR JHTF
et A 1 B, B @ 1% up & 98 81 39 |el Sa #
U |

151, ‘gEar e dsm @ IasT 8 ?

(1) wrgaraeh (2) STfcraTah
(3) Atagar=r (4) AHEaTEH

152. s & e 9% € 7 |
(1) &= (2) =R (3) = (4) qr=

153. <At 1 afu-fa=sg =1 8 7

(1) gat + == (2) g4 + 3=

(3) ga + 324 (4) g4d: + 339
154, ‘Fremeara @1 aftg o= 71 8 7

(1) FrEn + srfeEma (2) Rrer + arvamE

(3) A7 -+ 31T (4) ferm + 99
155, ‘1 el Alfeld o e © 7

(1) =% (2) ST

(3) ST (4) Sterl
Ceq. i g 1 ST SEIE B W A B 8 7
BN (2) @I

(1)

(4) =
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9T 99 HEdr 157/ 160 0% : =i & suga R o=

157. Sifea

(1) U=y (2) Ixa (3) WA (4) o
158, &

(1) Soam (2) = (3) &= (4) @t
159, %9

(1) & (2) Frerg (3) T (4) HTT
160. 371

(1) TR (2) afx (3) Uxelrm (4) T

e : 9997 der 161 R 165 TF @ TH | TgigeT=h
Wﬁmﬁqm%,%ﬂﬁ%ﬂﬁ@ﬁﬁ%ﬁ%ﬁﬁmﬂﬁgﬁ%?

161. 3THX

B AT (2) S (3) s (@)
162. 3fra

(1) STar (2) ™ (3) Srw @) ofyg
163. T=7

(1) s1a (2) St (3) &y (4) ==
164. g

(1) FR (2) gde (3) Gy 4) T
165. 41X

(1) (2) = (3) wars 4

&
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EEST DAY HTAT 166 § 168 % : frfafaa meet # geay R o
v, 98 e 31 g & i ar-ar B Re ¥ ) gl o
FAL T B, AR wEd Sugw (98 REeT &1 =ae B 8 )

166. 7@l 1 anT 24T

o sl (2) T e
P S—— @) B F
167, WT_q:ﬂ- F;FIT
5 N (2) SR BT
P e (4) == q A0
168, E:‘F":H E%"::"T
- - (2) E’aﬁg gehl ST
sliesnliFoie @) gas

Frder © uew dE 169 Y 172 TF : A9 Ru U geEt # R @t @
B R gr-ar Red @ 8, St g @ Fae it

169, A ....... % off e el & fard # Aed HA el e |
(1) &= (2) T=H
(3) =ea (4) gTraRAt
170. oovnen g aar 8|
(1) *d.: (2) ST
3) (4) T
171, e & ) FOTE FEHT «oemeeeenee el
2)
(1) B (@) ©
(4) ST9HI

(3)

42

[ ]
gcollegedunlaa
India’s largest Student Review Platform

—



16U/118/8

172. T8 ..o qfeal @ ==l o W@ B
(1) =TT (2) 9fgrer
(3) 39Tt (4) 9X9ret

Fee : u d@&r 173 @ 175 7% : Preffag @ ot § Ru
AN-ER 6Tl § & a9 d g9 i

173. (1) fBOT @A 8L-HY (2) B-9 ST @4
(3) @d B-9X e 4) B @EUd @9 T

174. (1) ¥1aT 0 99 95 ' F9a1 St

(2) AT @ HI g H Awar et §
(3) 7T B HIT TH 9T wEar Ot D
(4) AT B FIF g ¥ FAHET S T

175. (1) & oM3 & w1 HE T FeY 7
(2) |1 T FF AT Fey JAF F ?
(3) =T FIE arT wEw o F ¥ 7
(4) T 1 F AT BEF oMy F ?
176. “Irrafavra” fraet ey 2 2

(1) areifs (2) gerdiET
(3) =g (4) gxaT
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Frdar : a9 dear 177 |/ 180 9% : Fy=figa eis @ sFgds afed
AT 3G Hdiod g9t & Itad Iac SR |

WS W TR AR WG @) @l 0F 8 ek B & 9ey 8 | 9T
THdl Fasdr aeet ol né,ﬁmam&w@wwwﬁi
ZHieE, AT YRAagat @1 98 dae 9 & 6 d 9omger § 3191 I
AT T TR B | EgE B & w5l 7ol § 1 ge 1Al HHE Wi
7 ofr g o faemer ¥ 1 wepan @Y e & T wH ot weAn g, o1 BN
Aegrg g1 o g | g 99 satee gedn § 36 IR & war o9 g 8
et 21 AN, a9 SR YA HS A6l SO, = a7 & Teh AT R
GO 9N & HY S B A S S |

177. ITAFT TieT it wrared & @6
(1) Uea] 7 wdsar o= & |
(2) TEAT A w@aEar & gl @adt & AR @97 W@ el |
(3) 27 #1 T X wWEEdr Oh gdl 9] [ §
(4) Zo7 B UmAT B A & IAN WAl H G & S

178, ©F HE ATE @ AR gl
(1]%%&Tﬁmaﬁwﬁwﬁt&ﬂ%ﬁmwﬁw
el
) mETer et ol & g6 O T AN A @I
(3) 3o @ | WP H EHIEQ A A @ |
() 2 @ e SIS T
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179. 3794 29T &l =l g9 & e 25 gy &%

(1) Bgwm™ & @it 9t ot 999 |93 |
(2) AT B TS q g9

(3) Egea™ =t &=l & a=1 9w
(4) B9 AOT99T 9§ 297 & A THAT F T FY

180. ITHT TSN,/ STAAIOT 1 IUFFT oo Epy -
(1) 97T =1 9 wH
(2) 39T & Ufd BHRT Hd=
(3) A7 @I Ul AR weizan
(4) AREEEAT & A~ F1 99T
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ROUGH WORK
& w1
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